1	
2	BILL NO. S-15-09-05 SPECIAL ORDINANCE NO. S-
3	AN ORDINANCE approving MISCELLANEOUS
4	CONSTRUCTION PACKAGE - RESOLUTION
5	#00075 between MALOTT CONTRACTING and the City of Fort Wayne, Indiana, in connection with
6	the Board of Public Works.
7	NOW, THEREFORE, BE IT ORDAINED BY THE COMMON
8	COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:
9	SECTION 1. That the MISCELLANEOUS CONSTRUCTION
10	PACKAGE - RESOLUTION #00075 by and between MALOTT
11	
12	CONTRACTING and the City of Fort Wayne, Indiana, in connection with the
13	Board of Public Works, is hereby ratified, and affirmed and approved in all
14	respects, respectfully for:
15	All labor, insurance, material, equipment, tools, power,
16	transportation, miscellaneous equipment, etc., necessary for RECONSTRUCTION OF SIDEWALKS, CURBS, AND
17	YARD WALKS OF 54 LOCATIONS THROUGHOUT THE CITY:
18	
19	involving a total cost of ONE HUNDRED NINETY-FOUR THOUSAND, SEVEN
20	HUNDRED THIRTY-SEVEN AND 00/100 DOLLARS - (\$194,737.00). A copy of said Contract is on file with the Office of the City Clerk and made available
21	for public inspection, according to law.
22	
23	
24	
25	
26	
27	
28	1
29	

30

SECTION 2. That this Ordinance shall be in full force and effect from and after its passage and any and all necessary approval by the Mayor. Council Member APPROVED AS TO FORM AND LEGALITY Carol Helton, City Attorney

COMMON COUNCIL SUPPLEMENTAL 2015 – Miscellaneous Construction Package

Action Requested:

Requesting approval of an award to Malott Contracting in the amount of \$194,737 pursuant to Board of Works resolution 0007S.

Note: Malott Contracting was lowest most responsive bidder among 2 bidders.

Description and Scope of Work:

This Miscellaneous Construction package will impact 54 locations throughout the city. This will include the reconstruction of sidewalks, curbs, and yard walks of the participating properties. Property owners will share in the cost of each location.

- 4008 Willshire Estates
- 5412 Damask Drive
- 8323 Castle Pines Place
- 8733 Crestfield Ct
- 2513 Meadows Parkway
- 2317 Leroy Avenue
- 2317 Leroy Avenue
- 1806 California Avenue
- 1604 California Avenue
- 2115 California Avenue
- 1915 California Avenue
- 1018 Rivermet Avenue
- 1033 Edgewater Avenue
- 3005 Spring Creek Drive
- 6023 Merlin Drive
- 11524 Railroad Ln
- 11507 Railroad Ln
- 2318 Perry Trl
- 11616 Railroad Ln
- 11516 Railroad Ln
- 2212 Perry Trl
- 2304 Perry Trl
- 11607 Railroad Ln
- 11515 Railroad Ln
- 11510 Carroll Cove
- 11516 Carroll Cove
- Carroll Estates Association

- 11009 Turnberry Place
- 4023 Meda Pass
- 809 Kinsmoor
- 332 W. Suttenfield Street
- 340 W. Suttenfield Street
- 1223 Westover Road
- 615 Nuttman Avenue
- 3126 Hoagland Avenue
- 1126 West Rudisill Blvd
- 1147 West Rudisill Blvd
- 1004 W. Washington Blvd
- 1020 W. Washington Blvd
- 833 Thieme Drive
- 1319 W. Wayne Street
- 805 W. Wayne Street
- 1241 W. Washington Blvd
- 1307 Rockhill Street
- 835 West Berry Street
- 4707 Lillie Street
- 1214 West Berry Street
- 1018 West Berry Street
- 1010 W Wayne Street
- 4741 Reed Street
- 707 North Melody Circle
- 440 East Dewald Street
- 932 West Berry Street

						j best	bid column	***	
•	k O C	Form 96	Affidavit				x	ĺ	x
			inanciał Statement			1	x x	ļ	x x
		Bidder's Bond Street Barrica					x x		x x
		EBE Declarati	on Form				x		x
		Addendum No	Employment Declar . 1	aravon			x		x
		Addendum No Addendum No				· ·			
				TOTAL:	\$166,403,00	TOTAL:	\$194,737.00	TOTAL:	\$222,863,00
				. IOIM.	\$150,403,00	1			
		1				% over % under		% over % under	33.93% 0.00%
	Tabulation	<u></u>	DEO VO.	65070					
proj: Bid	2015 Miscellaneous Construction Package		RES. NO.: W.O. NO.;	00078 00078		BIDDER:	Malott Confracting	BIDDER:	Hipskind Concrete
Date:	08/19/15 ITEM	PLAN	UNIT	Stimate UNIT COST	THUOMA	UNIT COST	AMOUNT	UNITCOST	AMOUNT
NO.		QTY		Est (\$)	Est (\$)	(\$)	(\$)	(\$)	(\$)
	Removal of Curb	586	LF	\$11.00	\$6,446.00	\$16,00	\$9,376.00	\$10,00	\$5,860.00
	Removal of Concrete	1604	SY	\$11.00	\$19,844.00	\$17,00	\$30,668.00	\$12,00	\$21,648.00
3	Common Excavation	60	CY	\$15.00	\$900.00	\$50,00	\$3,000,00	\$50.00	\$3,000.00
	Concrete Curb, Type I-A	95	LF	\$25.00	\$2,375.00	\$45,00	\$4,275.00	\$30,00	\$2,850,00
5	Concrete Curb, Type I-B	291	LF	\$25.00	\$7,275.00	\$29,00	\$8,439,00	\$25,00	\$7,275,00
ε	Concrete Curb, Type II-A	86	LF	\$28.00	\$2,408.00	\$22,00	\$1,892.00	\$15.00	\$1,290.00
7	Concrete Curb, Type II-B	42	LF	\$28.00	\$1,176.00	\$32.00	\$1,344.00	\$30,00	\$1,260.00
8	Concrete Curb, Type III	72	LF.	\$32.00	\$2,304.00	\$30.00	\$2,160,00	\$30,00	\$2,160,00
g	Concrete Curbface Walk (6")	44	SY	\$60,00	\$2,640.00	\$70.00	\$3,080,00	\$65,00	\$2,860,00
10	Wingwalk & Ramps (6")	70	SY	\$62.00	\$4,340,00	\$75.00	\$5,250,00	\$150,00	\$10,500.00
11	Concrete Sidewalk (4")	1128	SY	\$30.00	\$33,840.00	\$36.00	\$40,608,00	\$35,00	\$39,480.00
12	Concrete for Sidewalk Steps	0,5	CY	\$300.00	\$150.00	\$300,00	\$150,00	\$1,200,00	\$600,00
13	Concrete for Residential Drives (6")	506	SY	\$45.00	\$22,770.00	\$54.00	\$27,324.00	\$60,00	\$30,360.00
14	Concrete for Alley Approach (8*)	56	SY	\$69.00	\$3,360.00	\$66,00	\$3,696,00	\$100,00	\$5,600.00
15	'ADA Solutions, Armor Tile, or Armor Cast "Wet Set" 2' x 5' Composite Tactile Warning Surface Unit	8	EA	\$250.00	\$2,000.00	\$240,00	\$1,920,00	\$250,00	\$2,000.00
16	Inlet Protection Device for Erosion and Sediment Control, Sediguard	4	EA	\$75.00	\$300.00	\$55.00	\$220,00	\$50,00	\$200.00
17	2' x 2' Curb and Guller Casling, Fumish and Adjust to Grade	1	EA	\$350.00	\$350,00	\$850,00	\$850,00	\$600,00	\$600.00
18	Casling Adjust	2	EA	\$150,00	\$300,00	\$125.00	\$250,00	\$400.00	\$800.00
19	Water Valve Adjust	1	EA	\$100.00	\$100,00	\$125.00	\$125,00	\$500.00	\$500,00
20	Tree Removal	4	EA	\$500,00	\$2,000.00	\$1,550.00	\$6,200,00	\$2,000.00	\$8,000.00
21	Moving of Neighborhood Post	1	EA	\$150.00	\$150,00	\$450,00	\$450,00	\$1,000,00	\$1,000.00
22	Type "O" Compacted Aggregate for Base, No. 53	221	ИОТ	\$25,00	\$5,525.00	\$28,00	\$6,188,00	\$30.00	\$6,630,00
	Top Soil	38	TON	\$45.00	\$1,710.00	\$30,00	\$1,140,00	\$45,00	\$1,710.00
	Hydroseeding with Hydrostlik or Equivalent Polymer for Erosion Control	720	SY	\$15,00	\$10,800.00	\$5.60	\$4,032,00	\$4.00	\$2,880.00
25	Construction Sign, Type A	8	EA	\$80,00	\$640.00	\$200.00	\$1,600.00	\$100.00	\$800.00
26	Undistributed for Drive Approach (6**)	100	SY	\$45,00	\$4,500.00	\$50,00	\$5,000.00	\$60,00	\$6,000,00
27	Maintenance of Traffic	1	LS	\$7,200,00	\$7,200.00	\$5,000,00	\$5,000.00	\$20,000.00	\$20,000,00
28	Mobilization / Demobilization	1	LS	\$9,000,00	\$9,000,00	\$8,500,00	\$8,500,00	\$25,000.00	\$25,000,00
29 \	Nork Allowance	1	LS	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00

Award:

Resolution 0007S

2015 Miscellaneous Construction Package

in the amount of \$194,737.00

CITY OF FORT WAYNE
BOARD OF PUBLIC WORKS

DATE:

8/26/15

Robert Kennedy, Chair

Mike Avila, Wember

Kumar Menon, Member

ATTEST: Lyndsey L. Richards

Clerk

COUNCIL DIGEST SHEET

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Transportation Engineering Services is providing this information to Council as an overview of the <u>2015 – Miscellaneous Construction Package</u>, award.

R	FPs	æ	BID	S

Bid/RFP#	0007S
Awarded To	Malott Contracting
Amount	\$194,737
Conflict of interest on file?	X Yes \Box No
Number of Registrants	4
Number of Bidders	2
Attachments	AWARD APPROVAL AND BID TAB ANALYSIS SHEET

EXTENSIONS

Date Last Bid Out	
# Extensions Granted	N/A
To Date	

SPECIAL PROCUREMENT

Contract #/ID (State, Federal, PiggybackAuthority)	
Sole Source/ Compatibility Justification	

BID CRITERIA (Take Buy Indiana requirements into consideration.)

Most Responsible, Responsive Lowest	X Yes	□ No	If no, explain below	
If not lowest, explain	N/A		-	

COUNCIL DIGEST SHEET

Increase/decrease amount from prior years For annual purchase (if available).	N/A
DESCRIPTION OF PR	OJECT / NEED
Identify need for project & describe project; attach supporting documents as necessary.	SEE ATTACHED COMMON COUNCIL SUPPLEMENTAL
REQUEST FOR SUSPE APPROVE PROJECT Provide justification if	ENSION OF RULES TO INTRODUCE, DISCUSS AND
prior approval is being requested.	N/A
prior approval is being	N/A
prior approval is being requested. FUNDING SOURCE	LEDIT CEDIT